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Charge 4a&ll (C)
4

j —

4
[

r “';d
qudq:fo’df Time ¢ (S)

Current L4 (A)

Current
density ( A/m?) ]
i) ABES At ] = —

A

I:f]'dA Area 4alwd) (m?)

Length &l Jsh (m)

Resistance (2 L

LJM\*. R — p_
- A

Resistivity (Q.mf:
A gil) 4 glaal »
2 5l Aa glial) Area 4abuall (mz)

Potential difference (V)
agal) (3.8 4

Resistance (Q) AV
da jL"gAj\ Cn . R —_—

i

K
Current )W (A)

conductance
Juasil 1
( S ) Q-l G — ﬁ
siemens | 1
v
Resistance ()
da 3@\

conductivity 1
Al gl Al gal) ©. | o = —
(Q.m) ! P
p= E Resistivity (€2.m)
] de i) da glaal)

Resistors in Pralle
s e claglia

AVemt=AV1=AV2=AV;
i=ii+2+13

R.= R i Idti:ntical resis}ors
n,. 4 gludia Cila glia
(i)
Coi—>
G
Ry iy

Resistors in Series

Al e el slia
Req=R1+R2+R3
AVemt = AV1+ AV2 + AV3

I=l1=1R=13

Identical resistors
g gludia cila glia
quz nu.ur- X R ataal

Q) ) )
In-minem

_AV-CAV, AV, [/ AV,
R, R R R

eq

Vemt=Vi+V=IR+IR =I (Ri+R)

2
e F = f AN = [P = (AV)
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(,J;J P C’i}l:.ll e

(1)

According to the figure, when a Ehird resistor
is pdded in series to the two resistors
connected in series. What happens to the the

s

sl e QAN da glia dila) ais JSAY) o Jalals )
c Vsl o il gaa gall (e gliall
€ 5l B lad) Ll Badi e i kg 1l

electric current passing through the circuit ?
Decrease | AT Ja,
Increase | B | 4.3
Stays the same | ¢ 58 LS iy
Becomes infinity | D | 2,4 Al Y maa
(2)
If the equation between charge and time is s A Gl Aadl Bpdle cuils 1)
(q=5¢+3t) (q=52+3t)
What is the correct expression of the current (i) gSh il maall ) La
(i)? o+ +3 :
A=10t+3 &1 =10t + 3t
3 2
B |i=5t2% + 3t D = SL i
3 2
3)

Which of the following is equal to the unit of
siemens (S)? A L

C(S) Sasadl B3 g (5 gbuwy AL (o (5]

-2 2 =RT

X

——1lvV

1S —
i\/IA

|
< LA
o e R, L
Bl 5= \ Dl g=
1V 1A

For the electric circuit
shown in the figure: if the
battery's electromotive

force is (12V), the
resistance is (R=2.4€Q),

what is the electric current
flowing through the

circuit?
ik

AlSOA

50,gS1 531 e Iokas]
6130 1 KA1 3 ksl
450gS1 Il 5 gl
dagliall 9 (12V) 4yUadd
.(R=540Q)

NCTURY é_)l.oJlJij 34 Lo

N
28.8 A =2 K

0.2 A

L 0509886279



EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil


— R—™>X
Kg"éj}/ ) 6%’%3

_Threeé'dentical resistors connected together o e Al gua g AliLaia Ay g S il glia 4530
in \parallel I the equivalent of the three G cila gliall ABLSal da glial) cuils 13 g 50 g3l
resistors 1s (6.0 Q), What is the resistance of . 6.00 )
any resistor of them? ¢ agia aglia oY dagliall jlaka Le
A[6.00Q &118.0Q
B|20Q D | 27.0 Q

Y ©

An electrical device with a power of (968W) | 1 e ( 968W) 458 Al S g Jua g ol
is copnected to a source of electromotive T (V= 220V) LutgSh dadl)) LS b jran
forcey( V.=220V) . What is the resistance of ? (¢ <-f—-2 ; daglia A L
this device? =X A ]

(b f50 0 6\,42«22'&2(;4.40
X

B[023Q D[200

(7)
A rechargeable battery is rated at (3. h) . (3.0mAh ) Jiray Jaad candll A48 4 Uy
What is the total charge in Coulombs unit (C) 03¢d (Say Al ) (CpstsSh Baa gy 408N Aiail) La
of the battery can deliver when fully charged? e alSIL A gadia ¢y 55 Ladic Wy yud g5 Ay Ul

(mAh means milliampere-hour) f gx :g .

Al10.8 cl3oc
B3.6C > T g 1.6 C

— é...
N (8)
Whi(;h of the following is nof frue for current S ALY Ay Leaseso ud JWI 0 ]
density (j) and current (i) ? (i) QLreSILtE () SLseSl
Unit of current density equal to 4it of current density equal to Ampere
;4 Ampere per Meter \ C | per Meter square f
| A S el (g glead Lil) ABUS (1l Baag e e 081 ) (g gbead il ASUS (il Baa g
o1
B ]:X/ DL/Z;zfj.dA
(9)
A cylindrical aluminum wire is (32m) long | 9.2 ) \glasliag 32m b o oxie I oo Dl glawd
and has a resis@th s‘&%,'l.'y of aluminum is

. 2.82 X 10 Qim g Lgiaglie C3613)

(2.82 X 10® Q.m). What is the (Hint: Area of (A=mr?) . kb ciua caal

the circle is equal to 7wr?)
a 1.198 x 103 m C |1.436 x 10> m

B | 1.436 x 10°° m QNG D [4512x10°m 2 %2\4\;21:]?)
ples o sl ) > vt A=

0509886279 G WY ¢ 'rf—rksf
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(,J;J P C’i}l:.ll e

(10)
Which is the equivalent LB daglial Lo
resistance of the circuit /) Byl § Cloglial
shown below ? { ( S é 450 g S
1 .].—-—'[’_ V= Ri R; Rs "6 ygloeall
ng/_. = T2 7%V 30 $12Q $40 '
S W S p
Al 1 C
19 Q 19 Q
B115Q D[10Q
(11)

Three resistors, 3.0 Q, 12 Q , and 4.0 Q, are
connected in parallel across a 6.0 V battery as
shown above.

What is the current through the battery

e ﬁJw\gAJw\J@\SA&U.J\QM\M\QM

Vo090 4.0 2 512 Q ¢ 3.0 Q Ologlie &
(6.0 V) gz &b dllay IS e 1! e

Alo32a < 1.2A
B [0.80 A \s S 4.0 A
(12)

Three resistors, 3.0 2 ,5.0 Q2 ,and 4.0 Q ,
are connected in @ across a 9.0 V battery.

What is the current in the circuit?\Q
———

WUg090 4.0 2 55.0 Q< 3.0 Q Sloglio EHG
(9.0 V) Lugz 3,9 Lylas IS e J gl S
§ 8,511 3 HLedl HLl B o . yglomad! JSK2II 3 LS

0.75 A B|30A C |1.8A D |23A
1. (13)

Four resistors, 1.0 Q , 3.0.9., 5.0 Q , and
4.0 2, are connected i edwith a 9.0 V
battery. What is the equivalent resistance of

40935 5.0 Q3.0 Q¢1.0QSloglie au)f
(9.0 V) bug= 33 dylay § Joidl e Dgaog0

A 6.0 Q B113 Q Cc 0.6 Q2 D |1.8Q
(14)
Which is the current GbeSIl 5L B L
through the battery in WD 3_;" doyladl @ el
the circuit shown below ? c e w AL
V= R, R, Rs -Jﬁ".“d‘(w'é A
T~ €/f /6N cRISE SELE S P @IS N
- kS
155 S W &
—_—
A 40 A — c [0.32A —— TSI
B |0.25A D |[3.2A

-
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What is the equivalent
resistance of the circuit ?

@_\\ﬁg v=k

LB dagliaall Lo
3 Whoglial de goxal
*QS'-OJququ 8 31!

VI

C——L.f-r’> 5& 60V

\24 2=

WA

AHAT.0 Q 32.0 Q

B

12.2 Q 3.50 Q

 —

(16)

Emad .connects ﬁigg 12 Q lamps 1@ .
What is the total tesistance of the circuit ?
e

e S doglie Zrubias Old Juogis sles pl
€ Byl Adedl Aagliadl Lo . JIsl e 12 Q

~Parallel circuit )53 i

A 0670 éeg)(/\/ cl15Q
B|120 - ::8 B196 Q
(17)
What is the circuit in which there is more s cpo AST HLal) Lgud 0950 I 85I ol 13k
than _ﬁfath for the current ? Nemne ¢ U9
—-A_ Series circuit (s 3 ¥ C | Open circuit 4a gidall 4l 4g<h) 5 il
B-

g insulating circuit 4jlad) 4l g<l 3 il

(18)

Whjeh of the following bulbs are connected “ % 2 :
in(Serics § § Jlgdl Js D guo g0 AW muliaall ]
= P
A 1\«.\;, )
( _]
-
—EE—
&
B (\ '.—/; D
&) W
‘——“—«—‘ )
0509886279 ) 5 )
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(J\.EJJ ot qguu e

What is the reading

S A Sl Bslyd P L
of the ammeter A‘7 —@"h

A 10.20 A C [50.0 A
B |5.00 A D |3.50 A
(20)
Based on the figure below lybad! (1 ¢ oboT il Tadg
which statement is true ? R PR |
R>
= = = (E'\O
R:
v oV,

—
iA V2 <V ‘ C V2=V
BIV2>YV D|V,=0
(21)
Which of the following is an incerrect statemen ? § dmomo b AWl Oyl )

. b{ The currents through 8lectronic deviced | A | &ustuda Aol Ao dlaia cilaglia pe Ll 304
——connected in seriEslm equ
=‘

. . -_— ol - Y - - - DRSS
The potential drops across.electronic devices | B s Ao dlals laglia pe agall (alddl)
connected i parallelfare equal. 4 gluiia

oge current flows across the, smaller C Jra g die 8 0 e<h ral) dagliall e Ll Bad
are connécted in | | gl Ao (naglia
More current flows across the smaller | D | dsasi die 5u8) 585 pua¥) daglBal) o Ll 0
. = - A
\é' resistance when two refistors.are connected sl Ao Gaglia

Sef,z;-'—'__@d-

=
(6 _ 0509886279
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(o _([R2
WA

)
VG R =2 R
(22)

In the adjacent circuit, QG o0 ¢ Byglxall B3I (§
The current flowing through 4 iy
resistor R is equal 0.5 A.

What is the value of resjstor
R? ( ~

4 I
A |2.0Q Cc |12 Q
B |4.0Q D138.0 Q
(23)

An electrical circuit consisting of three resistors | Js 4 g0 90 loglio EM (o dgSe dudlpgS 8,510
connected iwith a battery and a o0 £l 142 jaas Lo el . = lide g dyyllas 9 (55l
switch. The most important characteristic of & |," o gl
this type of connection 1s that:

The total potential difference equals the@ A | Bl o g G908 £ sana g sl SN agal) (38
of the potermatdifferemce between cach "S- astia Js

S ® s I%R .
hen current(stop} flowing through one of these | B A3l e glial) oda aa) A LAY g 4e B gy Ladis
sistors, it stops Tlowing to the rest or resistors laglia) AL oo il gy
I of these resistors must have the same sl Ll cila glial) 038 aran (B s O Gua

ctricAT current A\\ Al
———————— y ‘ = -

The total current must be equal to the‘sug of D @) il £ sanal by glusa (ASY Ll ¢ 685 ) e

the sub currents passing through these ¥esistors cila glial) 38 A 3 jLall e il
—
(24)

Neglecting wire resistance. All 2o 9 - Il doglie Jloal
Resistors are identical . V,I_M_@)_ Belyd O . dlileso g‘bln_gm.o.ﬁ
The Ammeter reading is the S P B wis Seu be JB1 9SS eyl

leasf when switching off e |

E [N \ N 2]
= K )P S Eehe D R
A | The S; key only Lid §; zuda) C | The Sz key only Lid S, rudal)
(B The S3 key only hid S 7 Gdal) D S1 and S2 together e Sz 9 S1 cpaliza)
(25)
The electric potential dlf.ferenACQe, P | I\ 3 .:-bnuy ‘;\{: 3“5" ,\e_?:J; Gy
betweer.l the ba‘tter.y t.ermlnals _W__ll_.m__ Ail5gSUN By511 (§ ded! dylladl
shown in the circuit is equal to ? =/ 0.5 ¢ S9lun Byglxmall

A1V B4V c |18V DAa5V

- y o)
oLes 7 Js = o WLV

0509886279
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’\“z%_o

k,(o

L 26

The figure shows a group of
resistors . the equivalent

resistan%is‘ equal t\(
_N\rdk

\ 40 Q}

/ "'y

16 Q

N—

—_— -

REE.CTVE TR VRTIE SN -S-A]

OB Lghuo 55 03 Ciloglial!
P Solud lgf BB dagliall

A 5170 B | 116 ,ajﬂ Q D [331 O
(27)
The figure sélows a grloup of 20 o Cra A gana Cpu ) glaal) JSAY
resistors . the equivalent ANAA AAAA g \ .
. \AAAJ \AAJ A.AM .u1i! =~' '“LAM
resistance Is equal t(‘g — 36 O | Sl O a3 Sl gl
sl L

_ﬂfzg =13

D |18Q

In the figure . the equivalent
resistance is equal to (9 Q).
The Resistance R equals:

Ri=4Q Rx=?

R:=3Q

4Bl daglial) ) glaall Jeid)
_(9Q)L5JMQLAJM
Deskd R, 4agliall ol

A0 B |16

D |8 Q

(‘/\-—-

1 isz

The figure shows a part of a circuit
The equivalent resistance between X
the two points (X, y) equal g

Q- t%z)

Aagliall B 0la (ra I Sa ) glaall JSEN
O A g gl il gliall de ganal AidlCAl)

:@Ju(y‘x)&ﬂm‘

the resistance of each 2 ) 1fo a circuit such that
et an equnvalent resistance of magnitude
you connect thenTas -

8Q

A

A |2Q B |16 Q D |8 Q
(30)
If you are asked to connec three identicalsesistors da glia 4 glucia ciba gl84 N5 Juua g5 Slia ks 13

daglia o Juand Euan 84l 812 () e JS
s JOA A laS gl ild | 8 () lajlaka AdBsa

L 0509886279
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(31)

Equivalent resistance pf the Rz R logliall ds gasee) LK dagliell
Connected group of resistors as X
in the figure is equal to : JUTIWRETIE SN -SA] 3 LS dlaiall
2K\ _;, = %
{, y (F)X 2 2ZRXR
AYZR Bl: 3 Clsr R ﬁ"?f E g
3 e = 7R
4

The amount of resistance R
in the figure is equal :

"/?-

054y 40 V=9, el K21 § R dagliall yldie

Lo

Ry 2

7Q

A |12Q

A2
D |18 Q

e110 Q

(33)

Three identical resistors (3€2, 3 QQ, 3 Q).

Which of the following does not represent
e ———————

an equivalent resistance when connected

Sl (3Q2,30Q,30 ) dgluie leglie &M
< &ngww&awmwy QI

together ? l A \g
A9Q/B1Q/ cle z £ |DP[45Qc—
— -
r—-‘"""(_.u\,__. (34)

g identical r ESI toﬁ} each resistance
(10 Q) to obtainwn equivalent resistance of

value (15 Q) We connect the resistors :

Joazll (10 Q) e J5 daglie ileglie BN
s cilagliall Jua i (15 Q) ghosd 38 doglie e

Two in a series and the third parallel to them | A | Lgaa (siisill o Gl 5 sl Ao o)
Two in paralle], and the!third in series with them 9 A Lagra A gil) o &MY g g 50l Ao U
all'in series | ¢ | & s Leaa
allin parallel | D | g1 Ao lgauan
(35)
In the figure, if the equivalent dogliall 813 Jsliadl JSE1 3
resistance equal (15.Q ) . 200 ) A . .~
=/ — — Ide OB , ELELWN]
then the magnitude of R is R HC S8 ATA)
equal to : VWA Sl
A 350 ) cl50 D[30Q
v\
(L +L) s
R
(L«Z_C- Q}fa /H pory

)

0509886279
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(JJ;J ot qguu e

(36)
Which of the copper wires (e A giaaal) DY) (4 g
shown in the figure Al i B ddual) g (uladll
. A w A ;
has the least resistance ? ¢ Al S Aa glha B
\_L B ‘K 0
R = —
& s
p 1 Ri o W yh B=2N
=\ _ ke AN p»
A § —C KN YD | D
A B| B ;' o 2 L= .
{ > V2 ¥ enSr=< i -':z.
[!wocopperwiresj Li=L:) and ( &1 = 2A%)Y (A1 =2A2) 5 (EFEMFY oladl) pa sl
ich o owing is correct R I — § dasaia Y (e ol
} — el =
1 1L=20L Bl L=4L c|l A=z, Z |D]| L=2L
(38)
Mhieh of the following wires shown has the doglie pSTa JSCaJI ‘3 CEVON[E1 ), Y OPS [V cgi
resistance : € AL ygS
The shape The wire | Temperature | Material
ﬁ :? L —— A 25 °C Iron
"1 (ﬁ; 25 °C Copper
» - C 25 °C Iron
D 20 °C Iron
(39)
Which of the doall N oy (ST

following wires C ‘ Iron 4] d (O Iron (] AT Jad @
shown in the <5 —

¢ il doglio
figure has the I%t ‘ C = T ) SbyeS deg
resistance ? a ePhSt @ W ppe

Al a B| b c| ¢ D d

(40)

The figure shows four wires A da )V SN jglmadl K& §
(D, C, B, A) each wire connect B Jaie g S(D, C, B, A)
to a battery (3.0-V) . which of C A e ST (3V) dylaw
the following correct : > . § dous

m» R C Z §: 7N

AT 1, > >1.>1, c| L>I. > >1,

B| LL>L>I,>I1. D| L>L,>I.>I

{10 |

1

0509886279



EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil

EINSTIEN
Pencil


Eeglleirf;giirg jf ‘t]he Voltmeter Ri= 60 Ro=? ZR Belyd I8 131 Jolied! KA1 3
then Amount of R3: _2-1.4 5 + JMe 0B 24V firedlgdll
Y R ¥ <
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